Year 11 Mathematics Learning Journey: Unit 1 - Algebra 1

Step 8: Solving Step 7: Factorising
quadratics quadratics
Factorise p2—6p + 8

Solve y2—-10y + 16 =0
Step 5: Form and solve equations and
Step 4: Linear Inequalities

inequalities
Solve 4x + 6 < x + 21

Step 6: Expanding
binomials

Expand and simplify
(4 +3x)2x - 1)

A rectangle has a length of (2x + 3)cm
and a width of (x + 5)cm. Given the
rectangle has a perimeter of 43cm,

find the value of x.

Step 3: Solving
linear equations

Solve 5(x — 6) = 65

Step 2: Expanding and
factorising single brackets

Expand 5(2m - 3)
Factorise 8x2 + 12x
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Step 1: Collecting like terms
Simplify 3a2 + 4a —6a2 + a
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